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7. Which one of the following statements is TRUR? fand g
are integrable functions on (—oc, 00).

\,f/(d) If f(x) < g(z) for allz, then /:lzf(z) dr > Lzzg(:b) dx
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11. The area of the region between the curves y = /z and
1. 1 _ ‘
y = — from z = 1 to x =4 is equal to
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14." The volume of the solid generated by revolving the region
bounded by the curves y = coszandy = 0, for

0 <z < 3, about the line y = —1 is given by
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15.

16.

The volume of the solid generated by rotating the region
and y = —x about the y-axis

enclosed by the curves y = 27
is equal to ‘
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The base of a solid lies in the first quadrant and bounded

1.
by the parabola y = 1 — sz , the z- axis, and the y-axis. If
the cross sections perpendicular to the z-axis are squares,
then the volume of the solid is equal to A
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19. The line x = b divides the region bounded by the curves
y=2r-3,y=02=—12=1Iinto two regions I, and
Ry such that Ry lies to the left of the line © = b, If tho area
of Ry is one third the area of 1, then b =
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